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Ne1 Hamaute 3HaudYeHue
BblpaXeHus:
1. X+32 npu x=-32
8
15
3. 12x—7 npn x=0,05
|

4. 3—-1,5x npwu x:—§

2. —3X pnu x=-2

2X—Y npy x=-1, y=

5. 1
X— 3y 3




Ne2 NpuBeanTe NnoaoOHLIE
cnaraemble:

1) -18n-12n + 7,3n + 6,5n
e 2) -8x+5,2a + 3x + 5a

e 3) 5a0-9.2m + 7a + 15m

e 4) 23x -23 +40 + 4x

e 5) 4x -2a + 6x -3a + 4
*6) -63m+8-32m -5

e 7) 4a - 60 -2a + 12 - 11
8 a+c-a+ c

e 9) 0,7x - 6y - 2x + 0,8y

e 10) 7,4x - 5,3y +6,6x - 3,7y



Ne3 Packpounte CKOOKM W
npuBeguTe NoaooOHbIe
crnaraemble:

1) (5-3b) + (3b - 11)
e2) 5b — (6b + a) — (a — 6b)
°3)2(y—-1)-2y +12

*4) 16 + 3(2 — 3y) + 8y
5)3-17a-11(2a - 3)



Ne4 YnpocTtute u HanguTte
3Ha4YeHUA BbIPaXXKeHUM:

ea)0,6a+0,4aa-55) npua=-38,3

e0)(a+6)—-(3—a)npua=-0,7



OJOMALUHEE 3A0AHUE

*c.31- Bblyuntb 1 1 2 npaBuna
PaCKpbITUA CKOOOK

e c. 32 N243, Ne45(1,2), Ne48, Ne50(1)*



